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Ql

Q2

Q3

Q4

Q5

Q6

Q7

GENERAL KNOWLEDGE

Long distance runner Sudha Singh won
Silver in the women’s 3000 m steeplechase
event at the Asian Games 2018. She

belongs to ~ district of Uttar
Pradesh.

(A) Lucknow (B) Kanpur

(C) Raebareli (D) Unnao

The United Provinces was renamed as
Uttar Pradesh on ,

(A) 26 January 1950

(B) 24 January 1950

(C) 15 August 1950

(D) 2 October 1950

In February 2018, the district of
Uttar Pradesh selected ‘Kala namak’ rice
as a product under the “One district One
product” scheme.
(A) Gorakhpur
(C) Azamgarh

(B) Siddharth Nagar
(D) Gonda

Sufi poet Amir Khusrau was born in
district of Uttar Pradesh.

(A) Bulandshahar (B) Aligarh

(C) Etah (D) Faizabad

The Tomb of Bahu Begum is situated at
in Uttar Pradesh.

(A) Lucknow (B) Agra

(C) Fatehpur Sikri (D) Faizabad

Which of the following famous Indian
classical singers was fondly called “Appa
j1” by her disciples?

(A) Girija Devi

(B) Kishori Amonkar

(C) Vasundhara Komkali

(D) Hirabai Barodekar

To which sect does Yogi Adityanath, the
current chief minister of Uttar Pradesh,
belong?

(A) Naga

(C) Kalamukha

(B) Nath
(D) Madhava

Ql

Q2

Q3

Q4

Q5

Q6

Q7

TRATS Wel 2018 H AfeT 3000 m STEN
qre Ui % RoTd uge faoiar g

Rig” Sar U9 & fyem |
REIENRS

(A) oTETS (B) ®MYR

(C) T aXell (D) 3+

&Y FYdT Ui BT 9H dqd PR ST
geor fohar T orr?
(A) 26 STaNI, 1950
(B) 24 STHaN, 1950
(C) 15 3FT, 1950
(D) 2 3R, 1950

"B THR T B B BT Th
f3Toll Th ST Aol b ded SN

g9 b T 9 Sde & Wy
# AT T T

(A) TREYR (B) RrgriTR
(C) 3TSTHTS (D) ST

b B AR GERT BT T IR U
& fSTel # garr o |

(A) geigerer (B) 3l Te

(C) ger (D) HoTmaTg

9g dTH HT HAHAYT SR U_Y B
# Rerd 2|

(A) TETS (B) SMRT

(C) ®dsgR A (D) Bl

frferiRad 3 4 fovd ufig WRAR el
ST gl ST or?

(A) RS <

(B) fheMRY AN

(C) TRGERT BIHBIA

(D) ERMETS IRISHT

IR U b JaHE GEIAEAT AR

=
(A) =TT (B) ey
(C) dretgy (D) #rErg

SET-B01



Q8

Q9
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Ql12

(ONE

Which of the following districts of Uttar
Pradesh shares its boundary with Nepal?
(A) Gorakhpur  (B) Maharajganj

(C) Balia (D) Basti

Which of the following Sikh gurus created
the Khalsa (The Pure Ones) in 1699?
Khalsa was a community of the faithful
who wore visible symbols of their faith and
trained as warriors.

(A) Guru Tegh Bahadur

(B) Guru Har Gobind

(C) Guru Har Krishan

(D) Guru Gobind Singh

State the quantity of gold bought by the
Reserve Bank of India during the financial
year 2017-18 in its first purchase of gold
in almost nine years.

(A) 2.46 metric tonnes

(B) 4.46 metric tonnes

(C) 6.46 metric tonnes

(D) 8.46 metric tonnes

Which Sikh guru introduced the Sikh
marriage ceremony known as ‘Anand
Karaj’?

(A) Guru Nanak Dev

(B) Guru Amar Das

(C) Guru Gobind Singh

(D) Guru Ram Das

Which was the largest fruit producing state
of India in the year 2016-17 as per
horticulture statistics by the Ministry of
Statistics and Programme Implementation?
(A) Andhra Pradesh

(B) Gujarat

(C) Karnataka

(D) Madhya Pradesh

What was the approximate amount of
India’s trade deficit during the financial
year 2017-187?

(A) $126.80 billion

(B) $136.80 billion

(C) $146.80 billion

(D) $156.80 billion

Q10

Q11

Q12

QI3

ISR YW & (et foreti # 4 fhaa!

JHET AUTT B AT T 27
(A) TRER (B) HERISIISI
(C) dferam (D) ST

frferRad H & ®F ¥ Rg T3 7 1699
H GTeAT U @1 IO $I 1?7 WTerT
S 9qer 2, S o favary &
5% YdIdl Bl UsTd © AR ArglAl Bl
e UiRiferd gor |

(A) # TS T 98I5%

(B) #1 % & fd=

(C) *T1 T T FoI

(D) # % Mide Rig

faia 99 2017-18 & SR IR R9d
% SART ST Al 9T § AF @1 Ugel!
ENIG H @RI Y A @ A fhd= 22
(A) 2.46 Hifgd <
(B) 4.46 Hifgd <4
(C) 6.46 Mfgd <
(D) 8.46 Hifgd <

fpe R 7% 4 R fdars wIRE @l
YA ‘3HE BRI & A | B A7
(A) & % IS <4

(B) & % IR &

(C) = o wide i

(D) & % M &

TiRGPHT AR HRIPH BrAaIT HAT
QIRT 2016-17 & forg g ¢ qrrar
el & AR I I Hel IATGH
ARA 15T BT T 87

(A) 3T U<er

(B) TSRIA

(C) ®Hle®H

(D) W& TeST

fai av 2017-18 & SRM YR & AR
e &1 T IR T 2fi?

(A) $126.80 fafera=

(B) $136.80 fafera

(C) $146.80 fafera=

(D) $156.80 fafera=
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Ql4

Q15

Qlé6

Q17

Which of the following statements is

correct?

(A) Gulzari Lal Nanda was the Prime
Minister of India at the time of
emergency in 1975.

(B) Indira Gandhi was the Prime Minister
of India at the time of emergency in
1975.

(C) Charan Singh was the Prime Minister
of India at the time of emergency in
1975.

(D) Morarji Desai was the Prime Minister
of India at the time of emergency in
1975.

Which of the following is correctly

matched?

(A) Article 19 (e) — Right to form
associations

(B) Article 19 (b) — Right to practice any
profession

(C) Article 19 (a) — Right to freedom of
speech and expression

(D) Article 19 (g) — Right to assemble
peaceably and without arms

Which of the following statements is

INCORRECT?

(A) The Governor is appointed by the
President.

(B) The Governor holds office during the
pleasure of the President.

(C) The Governor submits his resignation
to the President.

(D) A person of the age of 30 years can
become the Governor.

The Railway Minister of the Indian Union
is appointed by the

of the

(A) Prime Minister; President

(B) President; Prime Minister

(C) President; Speaker of the Lok Sabha
(D) Vice-President; Prime Minister

on the advice

Ql4

Q15

Qlé6

Q17

o & & 39 a1 BoH wE 'Y

(A) 1975 ¥ 3MUTAHIA & FHI ATl
el el IRT & W= H3A1 o |

(B) 1975 ¥ MUIAdIel & T $fax]
AR ARA BT Y HAT o |

(C) 1975 H SMUTAHTA B THA TRV
Rig WRa & &= H3 o |

(D) 1975 ¥ MUIAHTA & FHI ARROI
TS IRT & W HAT o |

for=forRad # & a9 @1 w8 e 87

(A) 3T 19 (e) — | T BT
JATHR

(B) 3 g=8a 19 (b) — il URT T a1
P BT JBR

(C) 3= 19 (a) — WYY AR =i
CIRCHENIRCIRSICEN

(D) 3F=6T 19 (g) - vifrgde iR SRRIRT
@ 91 SHET 8F BT SEHR

o § & B9 4T Terd 87

(A) guTe Xgufd garT Rgad fhar
ST B |

(B) IseUfd & YATEUid NTSAUTe Bl
BRIdIT Y&l B |

(C) RTUTe IMEURT T YT TTIH
RIECIEL

(D) 30 99 BT AR BT Al IS
9 AHAT B |

YRA & P=id Nl HAl Bl Eal
A8 W AR frgert fea
ST 2 |

(A) T, STy

(B) IreUfc; WeITHA
(C) rscUfal; SATheadT & Tee

(D) SIRTEUf; GaT=HAT
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Q18

Q19

Q20

Q21

Q22

Q23

Q24

Which of the following statements is Q18
correct?
(A) Zakir Husain was the first Muslim
president of India.
(B) Mohammad Hidayatullah was the
first Muslim president of India.
(C) Fakhruddin Ali Ahmed was the first
Muslim president of India.
(D) APJ Abdul Kalam was the first

Muslim president of India.

Which of the following is the capital of
Jordan?
(A) Zarqa
(C) Salt

Q19

(B) Irbid
(D) Amman

Which of the following is the currency of
Mongolia?
(A) Leu
(C) Kyat

Q20

(B) Togrog
(D) Metical

Which of the following is the third most
populated country in Asia?

(A) Iraq (B) Bangladesh

(C) Jordan (D) Indonesia

Q21

Which of the following nations of South
America has the largest forest area in the
South American region?

(A) Guyana (B) Brazil

(C) Colombia (D) Ecuador

Q22

Which among the following is the largest Q23
river of Peninsular India?
(A) Mahanadi (B) Godavari

(C) Krishna (D) Kaveri

When is International Human Rights Day
celebrated every year to mark the

Q24

proclamation of Universal Declaration of
Human Rights by the United Nations?
(A) 10" September

(B) 10™ October

(C) 10" November

(D) 10" December

o=t & 9 B9 a1 w8 2°

(A) SR 99 9RA & ygal R
RTsCafer o |

(B) Argwe feeRidedtl 9RA & Ugel
qRe™ Tl o |

(C) BETEIA 3Tell IBHE MR & UBel
R Iy o |

(D) TUIS. TGel Bl RA & Ugel
R Irgaf o |

frafafRag & @ &9 @1 ST a1
ST 27

(A) 9% (B) sfds

(C) wTee (D) 3=
fr=rfeTRad # & 3= A1 Jwiforar @ T
27

(A) forg (B) dIRE

(C) Fara (D) #fedwa

URRIT # IORT 9ad 3ffSd 3eTel arell
9 HIF AT 87

(A) XD (B) SiveITQer

(C) Sited (D) SSHERT
fafaRad et smRaeT vt 7 W foras
el SRS & BT I g I &l
27

(A) TarT (B) sroilel

(C) Brafraar (D) SFISR
frforRad & & Ui wRa @1 de
g3 9T PIF Ar 8?

(A) HEA! (B) TIETaRT

(C) T (D) ®Td

YT I FART AR DT AIHD
gyon 7 fafesd wxq & g &) a9y
fore fafer @1 STaRTST AR faaw
HATAT ST 27

(A) 10 RrdaR

(B) 10 3racar

(C) 10 9dsR

(D) 10 faHaR
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Q26

Q27

Q28

Q29

Q30

Q31

What is the name of the mobile help centre
launched by CRPF in July 2018 to help
the travellers going on pilgrimage to the

Amarnath shrine?
(A) Dost (B) Saathi
(C) Yaatri (D) Mitra

With which of the following countries did
India renew her trade treaty in October
2016 for the next seven years?

(A) Bhutan (B) Myanmar

(C) Nepal (D) Bangladesh

How many gold medals were won by
China, who topped the medal tally in the
Asian Games 2018?
(A) 102
(C) 122

(B) 112
(D) 132

In which country is the International Court
of Justice located?

(A) Netherlands

(B) United States of America

(C) United Kingdom

(D) Germany

In plants/trees, after fertilisation the ovary
matures to form the:

(A) Seed (B) Stamen

(C) Pistil (D) Fruit

Damaged CFLs and fluorescent tubes
should be disposed off safely because they
contain vapour, which is toxic in
nature.

(A) Ammonium

(B) Sulphur dioxide

(C) Nitrogen dioxide

(D) Mercury

The vascular tissue that transports water
and nutrients in plants is called the

(A) Phloem (B) Collenchyma
(C) Xylem (D) Sclerenchyma

Q25

Q26

Q27

Q28

Q29

Q30

Q31

SeIs, 2018 H SFRANS HfAR B e
I B dlel AT B AT & forg
HARATE GIRT Fo By 7Y HqTgel

TERIdT Bg BT AH T 87

(A) T (B) =reit
(C) I (D) =
T 1 a8t & foru fA=ferRaa <o #

A fFde A1 ART 9 JacaR 2016 H
Ul TR G Bl FdI-Ihd R &
87

(A) e (B) MR

(C) urel (D) drarey
Uf3rITE Wol 2018 H U drferd § oMY
I8 dTt A A foba wol ggd Siid 27
(A) 102 (B) 112

() 122 (D) 132

IFRTET IrITery fbdd <91 & Rera 87
(A) Evets

(B) gdR TU IR

(C) grgcs fohireH

(D) ST

TS /O H, feq & 91 isrery uRafd
BIAT &

A) 957 # (B) JH-H¥R H

(C) ST # (D) ®al H

BT UST GRIETT w3 fbam S =2y
Fifds g e BIAT & SIT W4
H STediel B B |

(A) STHIFIT @

(B) AR SISIATSS DI

(C) TIECIoH SIS DI

(D) IR B

9 H g 3R U9 dcdl b uRdgd &
forg ag=hl $add BT HET OIT § |
(A) WelrgH (B) lef-TehTgHT
(C) SIrgem (D) TFRTRISHT
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Q33

Q34

Q35

Q36

Q37

Q38

Out of the following options, choose the
name of a spore-producing plant:

(A) Marigold

(B) Bread mould

(C) Potato

(D) Ginger

Which of the following is a man-made fibre
that was made without using any natural
raw material (from plant or animal)? It was
prepared from coal, water and air. It was
the first fully synthetic fibre.

(A) Bioplastic (B) Nylon

(C) Rayon (D) Polystyrene

World Hindi Day is celebrated on
(A) 10January  (B) 15 January
(C) 17 January (D) 17 December

propounded the inheritance of
acquired character.
(A) Jean-Baptiste Lamarck
(B) August Weismann
(C) Gregor Mendel
(D) Charles Darwin

Who is the author of the book titled
‘Rebooting India: Realizing a Billion
Aspirations’?

(A) Satyarth Joshi (B) Nandan Nilekani
(C) Ratan Tata (D) Vishal Sikka

Full-fledged GST was recommended by
(A) Raja Chelliah committee

(B) Vijay Kelkar Task Force

(C) GST Council

(D) Manmohan Singh Commission

India’s first cyber police station was set
up in

(A) Kochi
(C) Bengaluru

(B) New Delhi
(D) Chennai

Q32

Q33

Q34

Q35

Q36

Q37

Q38

FfaRad el 3 9, gToded dr
STeH Uil BT A ﬂﬁ

(A) T

(B) S Alcs

(C) 3ffe]

(D) 3R

Bl A1 UTepfcrer ded 1t (41 AT STTaR
) B 1 TR T ue A9 AT
BIgaR | I8 PRI, T 3R BT I AR
fpar AT o | I§ ugen yui RAfew
HIEER AT | TE &

(A) Sg WiRed  (B) A

(C) = (D) difaRed

fawg f&< faaw BT AT ST
=

(A) 10 STTaRT
(C) 17 STHaRY

(B) 15 STaRl
(D) 17 iR

A fufda aRa & fRmIa &
Rrgiad @1 ufaufea fear |

(A) STH—dufeRe RS

(B) 3TRC dATZoTHA

(C) IR Hsd

O EISESICE]

e sfear duafT v fafer=
TR % JRIH @ gdh DI o7
(A) Tt SRt (B) Fed Aol
(C) X+ Crer (D) faemer Ryt

quT ®Y | SIL.TH.ELL & RwmiRer
TART BT T8 T |

(A) TSI <rerar Afafa

(B) fasTI ®edr TP BN
(C) Shuadl yRug

(D) wHIE Rig *manT

ARG T Tl 1SR el T
H wenfud fhar Tar o |

(A) ®ifed (B) =3 faeel
(C) dTge (D) =18
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Q39

Q40
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Q42
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Q44

NUMERICALABILITY

Solve the following equation:

48 +[35-{30-(31-26+2x4)}]="
(A) -2 (B) -3

(C) -4 (D) -8

Solve the following equation:

143 +143+1.43+0.143 +0.0143 =2
(A) 158.8783 (B) 158.8863

(C) 158.8683 (D) 158.8873

What is th fl dl?
at is the sum of ;-and /¢ *

14
(A) 18

14
(B) o

7
© 5

7
(D) EY)

What is the largest four-digit number that
is divisible by each of 15, 25 and 35?

(A) 9975 (B) 9925

(C) 9875 (D) 9825

What is the HCF of 150, 225 and 375?
(A) 15 (B) 25
(C) 75 (D) 125

Which of the numbers given below is
exactly divisible by 24?

(A) 14744

(B) 28856

(C) 43976

(D) 57528

Q39 fa= U U FHIdRUT Bl BT BN |

48 +[35— 30— (31 -26+2x4)]="2
(A) -2 (B) -3
(C) -4 (D) -8

o faT T THeRT BT ' BN |
143+ 14.3 + 1.43 +0.143 +0.0143 = 2
(A) 158.8783  (B) 158.8863

(C) 158.8683 (D) 158.8873

7 7

I _ o 2
1631Q 48$ YHTWh el Tepd-dl =
A 14

(A) 48

14
(B) o

7
©) )

7
(D) EY)

TIT IS1 4 3T dToll G T &, SiT 15,

25 3R 35 H | YD AR fa9Rora et
A 77

(A) 9975 (B) 9925

(C) 9875 (D) 9825

150, 225 31 375 &1 4.9.9. fbaar srm?
(A) 15 (B) 25
() 75 (D) 125

R & TSGRl § I B A G 24
A g TRE fawiforg e ang 27

(A) 14744

(B) 28856

(C) 43976

(D) 57528
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Q45

Q46

Q47

Q48

Q49

Q50

If 164 is divided in the ratio 32 : 9, what
is the value of the smaller part?

(A) 45 (B) 36

(C) 54 (D) 27

In an entrance test one requires 522 marks
out of a maximum of 600 to qualify. What
is the cut-off in percentage terms?

(A) 87 (B) 88

(C) 85 (D) 86

What will be the interest earned on T 1980

in five years @ 8% simple interest per

annum?
(A) ¥ 891 (B) ¥ 829
(C) X796 (D) X792

The difference between a gain of 15% and
a loss of 9% is ¥ 768. What is the cost

price of the item under consideration

here?
(A) 32640 (B) ¥ 2880
(C) 3200 (D) % 3440

The marked price of a toy was I 1800.
Two successive discounts of 20% and
15% were offered on it during a sale.
What was the selling price of the toy?
(A) T 1202 (B) T 1224

(C) X 1170 (D) 1230

Torsha started a business with I 2250
while Trisha invested ¥ 2880 after a few
months. If the end-of-12-months (from
Torsha’s investment) profit is shared by
Torsha and Trisha in the ratio 25 : 24, for
how many months did Trisha stay

ivested?
(A) 7 (B) 8
©) 9 (D) 10

10

Q45

Q46

Q47

Q48

Q49

Q50

i TRAT 164 BT 32 © 9 & AUM H
famifsra fobar STar 8, a1 ®ic W @t
A fdhadr 8rm?
(A) 45
(C) 54

(B) 36
(D) 27

fo<dl Tder Riem # IEdr urd dRd B
foru efrpad® 600 H W 522 3fdi Bl
JAELIHAT Bl & | Uferd § de 3ifh
T B?
(A) 87
(C) 85

(B) 88
(D) 86

@ 8% @I Al ARIRYT Tl &R WX 5
Y # T 1980 P &TSl fdoe=T BITT?

(A) T 891 (B) 829
(C) T796 (D) T 792
15% & < 3R 9% &Y 8T & &I &l

3R T 768 © | TET fSIeh! 91 1 ST el
2, B9 X B ARG qed faaer 27
(A) T 2640 (B) T 2880

(C) T 3200 (D) T 3440

U Racle @1 3ifdd Fea T 1800 o |
I @ IITT 20% MR 15% BT
Rrafielar a1 g @ g | Radq @1
fasha g fbam g

(A) T 1202 (B) T 1224
(C) T 1170 (D) T 1230
AREM 9 2250 % AT U HREAR Yo

o, Safs o qeHl & 9rq Brem |
T 2880 @ froer o faan | afs 12-A8M1
@ 3fd (@RI & 99 & I |) ™
DI AR AR 3T GART 25 : 24 & UM
H gier rar g, a1 e A feds qee @
fore faer fpar en?

(A) 7 (B) 8

(C) 9 (D) 10
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Q51

Q52

Q53

Q54

One morning Vaidehi cycled from her
house to her office at 15 km/hr but owing
to heavy traffic could return from her office
at 10 km/hr. What was the average speed
for the two-way trip?

(A) 12.4 km/hr

(B) 12.5 km/hr

(C) 12.25 km/hr

(D) 12 km/hr

Ifx:9:5:y, thenxy="7?

5
(A) 9

(B) 45
El
©) -

(D) 35

What would be the interest accrued in two
years if % 800 is invested @ 10% interest
compounded annually?

(A) T 162

(B) X 160

(C) X 166

(D) X 168

Nine pipes are attached to a tank, of which
some are emptying pipes and some are
filling pipes. Each filling pipe can fill the
empty tank in 24 hours, while each
emptying pipe can empty the fully filled
up tank in 18 hours. If the tank is full and
all the pipes are opened simultaneously,
the tank is emptied after 9 hours. The
number of emptying pipes is:

(A) 6

(B) 5

©) 4

(D) 3
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Q51

Q52

Q53

Q54

T GIE A8 3T TR SR A1gfhed
R 15 km/hr B TRT ¥ g Afb agd
NP AT & HROT Ao H SHDT
Tfr 10 km/hr R8T | - IET & forg
airaa wifar fara=ir ofi?

(A) 12.4 km/hr

(B) 12.5km/hr

(C) 12.25 km/hr

(D) 12 km/hr

T x:9:5:y, Aay=2
Ay 2
(A) 5
(B) 45
2
(©) 3

(D) 3.5

% 800 BT 10% ! alfieh =shqlg TSl
w® R 9w fHar Sar g, dr &1 9y #
3IfST =TSt @1 IR fdaeit Bi?

(A) %162

(B) T 160

(C) T 166

(D) T 168

1 UI8U U <& ¥ s gU ©, o 9
B UISY CF BT Glell IR IR ¢ AR [B
Uy <dh ® MR I & | TAD ¥R dTe]
TS GTell b BT 24 Eel § 4R Fdhel 2,
Sdfh UAP Tl B drell g8y 18

¢ H I IRE | P DI WMl B Tl
g1 Ife <o qR) TRE 9RT 83N ® IR |l
UTgy Udh A1 Wit SId 8, df < 9 ©S
H @rell 81 AT 81 & DI @lell &
qrel UTSyl &Y T &

(A) 6

(B) 5

©) 4

(D) 3
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Q55

Q56

Q57

Sarthak can fill a sandpit with sand in 14
days while Vivan takes 35 days to fill it.
Ali can empty all of the sand from a filled
sandpit in 12 days. If all three start
working when the pit is empty, in how
many days will the sandpit be full again?
(A) 60
(B) 61
(C) 62
(D) 56

Manmath rowed a distance downstream
in 7.5 hours while it took him 10.5 hours
to row the same distance upstream. To
make the two-way journey in still water,

how many hours will it take him?
(A) 18 1

4
(B) 18

1
(C) 175

3
(D) 17Z

A train, travelling @ 67.5 km/hr passes a
pole in 9 seconds and a platform in 29
seconds. What is the length of the
platform?

(A) 400 m

(B) 375m

(C) 380m

(D) 350 m
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Q55

Q56

Q57

ARG 14 A 73T & T TS &l W
[HdT & Sidid f[aa™ T 39 R & forg
35 f&7 oFTd © | 3rel 12 faAl § ua W
U N & T8S Dl YU Tl R bl
2| afe @rell T H N B AT B
Y A B, Al T BT TSl [ | e
feqt % W S?

(A) 60

(B) 61

(C) 62

(D) 56

0 GRT & A1 7.5 €< H U gl ad
Rl B, Sdfdh ORT & fquRid a8l g
T FRT H I 105 €S A 2| i
Ol H SI—dRGT AT B B forg, S

fhd= T oli?

1
(A) 18

(B) 18

1
(©) 175

3
(D) 17Z
Uh oA, fSaa@r IfT 67.5 km/hr B, 9
JHS H Th T 3R 29 Adhs H TH
RICHH IR BRI § | ©ICHH Pl ddis
et 87
(A) 400 m
(B) 375m
(C) 380m
(D) 350 m
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Q58

Q59

Q60

Q61

Q62

MENTALABILITY

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Kuwait : Dinar :: Turkey : ?

(A) Rial

(B) Kyat

(C) Yen

(D) Lira

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Affirm : Deny :: Create : ?

(A) Make

(B) Use

(C) Destroy

(D) Worst

Owl is related to Flit in the same way as
Lamb is related to:

(A) Frisk

(B) Strut

(C) Fly

(D) Prowl

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Owl : Hoot :: Goat : ?

(A) Bleat

(B) Beat

(C) Quack

(D) Roar

RST is related to 181920 in the same way
as GHI is related to:

(A) 8910

(B) 7611

(C) 789

(D) 7810
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Q58

Q59

Q60

Q61

Q62

fag U fAwedi # 4S9 U B 79T N,
ST AR U8 ¥ SN UaR Seerd 7, o
JPHR AN U Ugel IS W Gafdd &
E@H:ﬁ‘{l’{::g‘dﬁ:?

(A) Rara

(B) &ard

(C) o

(D) =Rt

fQu Tv faweal # ¥ S g &1 T9F o,
ST Y UG 9 SW! UBR Heed 7, [
JHR TET UG Usel U ¥ Haod o
GfREhROT : JRDHRYT : : ol : ?

(A) ST

(B) SURT

(C) =<

(D) Mpedq

T ThR ool S A T &, S
UHR HAT ¥ HRd 2

(A) BIST BRAT

(B) 3PS

(C) S

(D) foumm

fQu v faweal # 9 S Ug &1 79T aR,
ST N UG 9 ST UBR Heed 7, [
JHR TERT UG U8l U I Haed o
W:@::H‘cﬁ\ﬁ:?

(A) AT

(B) gghT

(C) Pi—al

(D) <@rsT

‘RST’ ©181920° & 19 U R Heferd ®,
S UHR ‘GHI foa & wdfa &7

(A) 8910

(B) 7611

(C) 789

(D) 7810
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Q63

Q64

Q65

Q66

Q67

Select the option that is related to the third
term in the same way as the second term
is related to the first term:
ER:VI::JQ:?

(A) DF

(B) QJ

(C) KM

(D) IR

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

BCE : 10 :: KMQ:?

(A) 31

(B) 41

(C) 111317

(D) 111217

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Butterfly : Insect :: Snake : ?

(A) Cobra

(B) Python

(C) Reptile

(D) Rodent

Identify the next term in the following
letter series:

AZ, BY, CX, DW, ?

(A) EV

(B) VE

(C) EU

(D) FU

Identify the next term in the given letter
series:

C,EEGK,M,?

(A) P

B) Q

(C©) R

(D) S

14

Q63

Q64

Q65

Q66

Q67

fag 71U fJeeui § | 99 U Bl TR B,
ST AR U 9 S UBR e B, o
JHR AN US U U ¥ A
ER:VI::JQ:?

(A) DF

B) A

(C) KM

(D) IR

f3g 77 fRdwedt # | 39 U8 B TT Y,
ST AR U | S UBR e B, o
JHR AN UG U U ¥ HeOd
BCE: 10 :: KMQ:?

(A) 31

(B) 41

(C) 111317

(D) 111217

e 7T fAmedi § & S Ug BT TT B,
SRR g 9 SN UaR Fefd §,
JHR AN UG U U ¥ A
fadell : dle : A9 : ?

(A) BIERT

(B) 3T"TR

(C) Ay

(D) PT®

FfRaT 18R Sj=aell H 3ol W Bl
PEEIE S

AZ, BY, CX, DW, ?

(A) EV

(B) VE

(C) EU

(D) FU

FFfeTRad 3leR SRaaT 9 3NTel e &l
PEEIE RS

CEGKM,?

(A) P

B) Q

©) R

(D) S
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Q68

Q69

Q70

Q71

Q72

Identify the missing term in the following
letter series:

K,O,S,?

A) T

(B) U

(OIY

(D) W

Identify the missing term in the following
number series:

11, 22, 44, 66, ?

(A) 77

(B) 88

(C) 99

(D) 110

Identify the missing term in the following
number series:

13,4, 26, 8,52,7,104, ?

(A) 4

(B) 5

(C) 6

(D) 7

Identify the next term in the following
number series:

220, 284, 356, ?

(A) 400

(B) 411

(C) 436

(D) 441

Identify the next term in the given series:
156,272,342, ?

(A) 506

(B) 529

(C) 560

(D) 592
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Q68

Q69

Q70

Q71

Q72

fr=IfeTRad e1elR sfge H o« 3R @l
U Py:

K,O,S,?

(A) T

(B) U

©) Vv

(D) W

fr=TfeTRad | siEetl H o v &l
Uga Py:

11, 22,44, 66, ?

(A) 77

(B) 88

(C) 99

(D) 110

Fr=TfeTRad A siEett H o v &l
Tgd By

13,4, 26,8,52,7,104, ?

(A) 4

(B) 5

(©) 6

(D) 7

fr=IfeTRad SR $jRgar H SFTell |
P gTAE B

220, 284, 356, ?

(A) 400

(B) 411

(C) 436

(D) 441

fr=IfeTRad EveaT $jRgar | SFTell |
P IS HY:

156,272, 342, ?

(A) 506

(B) 529

(C) 560

(D) 592
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Q73

Q74

Q75

If South-East becomes North, North-East
becomes West and so on, what will South
become?

(A) East

(B) North-East

(C) South-West

(D) West

Atul walks 5 km toward North and then
turns to the right. After walking 3 km he
turns to the right and walks 5 km. How far
away is he from his starting position?

(A) 3km

(B) 4km

(C) 5km

(D) 13km

Given below is a statement followed by
two arguments numbered I and II. You
have to decide which of the arguments is

a strong argument.

Statement:
Should the private sector be permitted to

operate hospitals in India?

Arguments:

I.  Yes, they are operated in advanced
western countries.

II. No, it is risky to put the hospitals in

private hands.

(A) Only argument I is strong
(B) Only argument II is strong
(C) Neither argument I nor II is strong

(D) Both arguments I and II are strong

16

Q73

Q74

Q75

afe féor-gd, SR 99 oar 7, @R
IR—gd, aRFH 99 ST 7 &R S
e 9l faeny gect Sl €, o1 <l
FIT BAIT?

(A) 9o

(B) cfero—gd

(C) Tferor—ufd=™

(D) uf=H

el IR Bl TRB 5 km B QT Th
Tl B 3R R T8 3R SR 3 km
I B 91 98 O 9§ 1 IR FeaT ?
3R 5 km Ferdl 7 |

g g8 YOOIl I ¥ fbal g W
g?

(A) 3 km

(B) 4 km

(C) 5km

(D) 13 km

A TP ST AR aT TP 3R 11T 717

g ol of 5 deom & ey 7 B

AT/ AP A © /7 |

P :

T Ao & & YRd § SRudral &l

HAITT B Bl 1Al & S =a1feg?

qb :

[. & 9 3I~d ufdes <o § Feardfa
B B |

II. -2, rgarel ol greif § Rger
WARATD 2 |

(A) I IS 19919 ©

(B) ®ad I Il Aolgd &

(C) AT TS [3IR 7 & & 1799 &

(D) 13IR I T T& #olgd 2 |
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Q76 Given below is a question followed by two

statements, [ and II, each containing some
information. Decide which of the
statements are sufficient to answer the
question.

The difference between father’s age and
son’s age is 21 years now. What is the

present age of the son?

Statements

I.  After five years, the ratio of father’s
age to that of the son would be 5:2.

II. The sum of father’s age and son’s age
after five years would be 66 years.

(A) Statement I alone is sufficient.

(B) Statement II alone is sufficient.

(C) Either statement I alone or statement
IT alone is sufficient.

(D) Both statements I and II together are
needed.
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Q76 @ Ud U iR &1 d& 13K 113U 7Y

2, forad o SMaRat nfie 8| Aot
of fb Ued &1 IR o7 @ folw @9 |
HAT B! E |

f9ar @1 oy IR Y= @ g | 21 AT
BT AT T | Y3 B aad Ay fobal 57

YU :

I Ui e d7e, fUdr &l o iR S
T3 @I MY H 5:2 HT U BN |

II. U A1 91, fUdr &1 3y iR g3
@Y Y BT AT 66 AT BT |

(A) Dad B [ T B |

(B) ®ad %A Il 1T 2 |

(C) T a1 B 1T o 11 e & |

(D) %29 13RI SF1 9I & |
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Q77

Q78

Q79

Q80

Q81

Find the number that follows in the given
series.

5,12,26,54,110,?

(A) 222

(B) 111

(C) 224

(D) 220

Find the missing term in the given series.
7,19,43,91,2,379

(A) 180

(B) 187

(C) 182

(D) 184

Which number would replace the question
mark in the given series?
9,31,97,295,?, 2671

(A) 890

(B) 889

(C) 887

(D) 885

Vikranth is thirty-second from top in a
class of 65 students. What is his rank from
the bottom?

(A) 33

(B) 34

(C) 32

(D) 30

Vani is sixth from the front end of a line
and Swathi is ninth from the back end of
the line of girls. If there are seven girls
between Vani and Swathi, how many girls
are there in the line?

(A) 20

(B) 21

(C) 22

(D) 23

IQ
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Q77

Q78

Q79

Q80

Q81

S ST A STl |1 DI W OB
5,12, 26, 54, 110, ?

(A) 222

(B) 111

(C) 224

(D) 220

9 S § 7?6 W W FIT YT?
7,19,43,91, 2,379

(A) 180

(B) 187

(C) 182

(D) 184

9 Sl 9 7 & I U T MT?
9,31,97,295,7,2671

(A) 890

(B) 889

(C) 887

(D) 885

65 BT &I BT H fapia &1 e oy
I giNIgl ® dr 3fd W SHBT BIF T
R BRTT?

(A) 33

(B) 34

(C) 32

(D) 30

dsfhal @I orgd & arofl T 9 Ba
WM W B 3R w@rfa i & A w@m=
R 2| ol iR Wi & 9= # A
ST 8, 1 ufdd 5 gt favaeil ofsfai
27
(A) 20
(B) 21
(C) 22
(D) 23
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Q82

Q83

Q84

Q85

Q86

Swarna is ranked sixteenth from the top
and sixth from the bottom of a class. How
many students are there in the class?

(A) 22

(B) 23

(©) 21

(D) 20

If the day before yesterday was Sunday,
what day will fall on the day after
tomorrow?

(A) Friday

(B) Thursday

(C) Wednesday

(D) Monday

Friday was a holiday for Republic day. 15%
of the next month was again a holiday.
What day was it on the 15%?

(A) Wednesday

(B) Friday

(C) Sunday

(D) Thursday

If SEISMO is written as TEJSNO, then
how would EARTHD be coded in that
language?

(A) FASTID

(B) EBRUHD

(C) EBTASN

(D) EARDHT

In a certain code, MASTER is written as
TBNSFU. How will DANCER be written
in that code?

(A) NADSFO

(B) OBEREC

(C) NADREC

(D) OBESFD

19

Q82

Q83

Q84

Q85

Q86

TP Hell H WOl BT SR | Alcted] I
2 3R I & BaT WH T | Fe H q{A
free BT &7

(A) 22

(B) 23

(C) 21

(D) 20

TR Hel & Ugel Bl fad AqaR o, ar
MM dlcl A & d16 BT fad diF AT
BITT?

(A) YhIR

(B) T®IR

(C) ggar

(D) AR

YEhAR BT UG fQad & TqAR R gel
ol | 3FTel WA @ 15 ARG Bl R |
gel &l a7 2, $9 15 ARG Bl I A
a1 B
(A) g89aR
(B) YPpdR
(C) Xfdar
(D) TwarR

afe fodl drs wem § SEISMO @i
TEJSNO forar Sfrar €, ar St w7 |
EARTHD &1 &9 UsR forar sig?
(A) FASTID

(B) EBRUHD

(C) EBTASN

(D) EARDHT

Ife fd dre §# MASTER &1 TBNSFU
foraT SITem ®, o S¥I B § DANCER
BT b gpR forar o

(A) NADSFO

(B) OBEREC

(C) NADREC

(D) OBESFD
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Q87

Q88

Q89

Q90

Q91

In a certain code language CHICKEN is
written as DHICLEO. How will FISHN
be written in that code language?

(A) FIJSIN

(B) GITHO

(C) FISHO

(D) GISHO

The position of how many letters in the
word RAINBOW will remain unchanged
when they are arranged in alphabetical

order?
(A) One (B) Three
(C) Four (D) Two

Find out how many such pair of letters
are there in the word RUST that have as
many letters between them in the word as
there are between them in the English

alphabet:
(A) One (B) Two
(C) Three (D) Four

Anu is Bali’s sister. Komal is Bali’s mother.
Dinu is Komal’s father. Ean is Dinu’s
mother. How is Anu related to Dinu?
(A) Mother

(B) Grandmother

(C) Daughter

(D) Granddaughter

Pointing to a chess player, a man said to a
woman, ‘“His mother is the only daughter
of your father.” How is the woman related
to the chess player?

(A) Grandmother

(B) Maternal aunt

(C) Paternal aunt

(D) Mother

Q87

Q88

Q89

Q90

Q91

gfe ffl dre W1 § CHICKEN @I
DHJCLEO for@r Srar 8, a1 Sl &l
TST H FISHN &I fhsd YR forar Siree?
(A) FISIN
(B) GITHO
(C) FISHO
(D) GISHO

RAINBOW & & 3f&Ri Pl quriehd A

TIARAT B & 918 39 I H foha

Rt &1 Reafd saRafda g ?
(A) U (B) I
(C) IR (D) &I

Ig 9adv f& AU 7T vreg # SRl & 0
JII—ATT U quiATer | ) S

@ 49 H A B |

RUST

(A) TP (B) a1
(C) = (D) =R

379, dTell BT g8 € | DI, dTell BT Al
2| 41, e &1 faar 21 53, < @
q 2| Al e, <N 9 59 geR Hdfda
87

(A)

(B) <11 /A

(C) 9

(D) Uit/ =fae

A o1 T Al | Bl SHD! H
s T @Y TeHE 9 B 17 Afdelr
g7

(A) T

(B) #ml

(C) =

(D) =i
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Q92

Q93

Q4

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Blacksmith : Anvil :: Carpenter :

(A) Axe

(B) Saw

(C) Spade

(D) Sword

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Gun : Shoot :: Chisel :

(A) arve

(B) Scoop

(C) Bore

(D) Dig

Study the following diagram and answer
the question that follows.

The following Venn diagram shows the
result of a survey of 1500 persons in a
city with respect to their knowledge of
Kannada (K), Hindi (H) and Telugu (T).

How many people know exactly two
languages?

(A) 150

(B) 300

(C) 400

(D) 450

21

Q92

Q93

Q4

faQ 7g fadmedl % 3 9 U BT T B,
S AR US ¥ ST YR e ©, o
JHR O U8 U US ¥ Hafdd
AER : A 1 9gs ¢

(A) BTl

(B) oM

(C) BT

(D) deaR

QU U fadheui § ¥ 99 Ug &I TIT DY,
ST AR U 9 ST R HelRd ©, o
JHR GENT IS U US ¥ Hafdd
T :FYE VA

(A) TFpTeR

(B) 1

(©) T

(D) Gt

A T T 9 oW s (K) B
(H) 3R I (T) & 99 & Hae H b
X H 1500 AT & AIeTT & GROMH &
IR H SIHHRI <l B |

P QT WEU S dTel Safdadi &1
e fahae ®7

(A) 150

(B) 300

(C) 400

(D) 450
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Q95 Study the following diagram and answer

Q96

the question that follows.

The following Venn diagram shows the
result of a survey of 1500 persons in a
city with respect to their knowledge of

Kannada (K), Hindi (H) and Telugu (T).

How many people know only one
language?

(A) 1000

(B) 1050

(C) 50

(D) 400

Study the following diagram and answer
the question that follows.

The following Venn diagram shows the
result of a survey of 1500 persons in a
city with respect to their knowledge of

Kannada (K), Hindi (H) and Telugu (T).

How many people know all the three
languages?

(A) 50

(B) 150

(C) 300

(D) 1050

22

Q95 M & a1 o1 NG dts (K) B

Q96

(H) 3R 9T (T) & S & Hae H T
&R H 1500 AN & FIeToT & GRUMH &
IR H SR T 2 |

Bael b WY ST drel Ffdadl &l
e fae ®7

(A) 1000

(B) 1050

(C) 50

(D) 400

T fear T OF N dte (K) Bl
(H) 3R 9T (T) & S & HaeT H T
IER H 1500 AN & HAToT B GRUMH &
IR F TFHRI SdT B

T A 9Iel ST drel afdaal @
e fae '7

(A) 50

(B) 150

(C) 300

(D) 1050
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Q97

Q98

Study the following bar graph carefully
and answer the question that follows.
The bar graph shows information about
the sales of wrist watches from five
branchesA ,A,A ,A, and A, of company
‘ABC’ in 2016 and 2017.

1 R T

Ej%]

10+
By Ay By By
e -2016 - 2017

Sales [crores)

What is the ratio of total sales of branches
A and A, for the year 2016 to the year
20172

(A) 2:3 (B) 3:5

(C) 3:4 (D) 3:7

Study the following bar graph carefully
and answer the question that follows.
The bar graph shows information about
the sales of wrist watches from five
branchesA ,A,A A, and A, of company
‘ABC’ in 2016 and 2017.

1 R I R e

10-
fedg-2016 [ - 2017

Sales [crores)

What is the ratio of total sales of all
branches for the year 2016 to 2017?

(A) 9:4 (B) 9:7

(C) 7:6 (D) 7:9

Q97 AU Y =1 P YD AIT PN 3R

23

Q98

Ul BT IR < |

IR e § 2016-2017 5 HUI “ABC” &1
are AR A LA AL AR A Bellg
afed} &1 {9 & ar 4 TEeR &7 TS
=

- |1 I

£ 25

E b1 £ TIPS

lnq pl.; -“a:l lnl-l. : ﬂs.
- 2016 [1-2017

a¥ 2016 ¥ dY 2017 TP AKIRI A, , A,
D F[ a0 BT U a7 2?

(A) 2:3 (B) 3:5

(C) 3:4 (D) 3:7

fau Q0 A1 o7 eagdd eI I 3R
U3} BT SN < |

IR A | 2016-2017 § HIT * TERIT
@1 Ule wErRl AL AL AL AR ALY
PHols Gfsdl @ I & IR § STHBRY
CURICE]

30+ ---- e
25
2|:|._.. 21 ira i e
15._..... LN
10+ ----- _j::"-:':',

Sales [crares)

lnq P‘.; -“a:l IA-I. : ﬂs.
- 2016 [ 1-2017

2016 ¥ 2017 H T TRIRI DI BA
faent &1 U R 77

(A) 9:4 (B) 9:7

(C) 7:6 D) 7:9
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Q99 Choose the figure that is different from

the rest:

ALY |Y| &

A B C D
(A) A
(B) B
© C
(D) D

Q100 Choose the figure that is different from

the rest:

Taf11 [ 11141 [ 17417 | TaTal

A B C D

A) A
(B) B
() C
(D) D

Q101 Choose the figure that is different from

the rest :

+ +|+ Ala +|+ +
A AlA + |+ A& A
A B c D

A) A

(B) B

© C

(D) D

Q102 Choose the option which is least like the

other words.
(A) Bitch
(B) Cow
(C) Vixen
(D) Bullock

24

Q99 T ATHIT BT TIT B I TERI A o+

g

ALY Y| &

A B Cc D
(A) A
(B) B
©) C
(D) D

Q100 T 3P BT TIT BN Sl GERI A A~

g

Taf11 [ 11141 [ 17417 | TaTal

A B C D

(A) A
(B) B
©) C
(D) D

Q101 T NPT BT TIT BN Sl gERI A A~

g

+ +|+ A|lA + |+ +
A AlSA + |+ A A A
A B C D

(A) A

(B) B

© C

(D) D

Q102 I & &I g Sl g H g T&l &

a8l 2?
(A) Bfcrar
(B) T

(C) <
(D) de
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Q103 Choose the option which is least like the
other words.
(A) Horse
(B) Tiger
(C) Lion
(D) Cheetah

Q104 Choose the option which is least like the
other words.
(A) Pressure
(B) Volt
(C) Newton
(D) Watt

Q105 Choose the figure which is different from

the rest.

NAN A A
A B ¢ D

(A) A (B) B

(C) C (D) D

Q106 Choose the figure which is different from

the rest.
I [ SA1E
A B C ]
(A) A (B) B
) C (D) D

Q107 Choose the figure which is different from

the rest.
X |||
A B C D
(A) A (B) B
©) C (D) D

Q103 IH ¥ I g Sl W8 H g v&l &
HH el 87
(A) =TT
(B) 991
(€) T
(D) =

Q104 I ¥x BT g Sl A8 H g v&l &
A TE 87
(A) WeR
(B) dree
(C) <A
(D) are

Q105 I GBI B TIT X I TERI A o4+
g

VAN 74N

AJAY

A B C D
(A) A (B) B
() C (D) D

Q106 I MBI B TIT X A TERI A o+
2

= (| i

-

A B C D
(A) A (B) B
() C (D) D

Q107 I GBI B TIT X AT TERI A o+
%.

A
(A) A
(C) C

|5 | &)

B c D
(B) B
(D) D
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Q108 Count the number of squares in the

following figure:

oLm

| I gy |
(A) 24 (B) 26
(©) 30 (D) 32

Q109 Identify the mirror image of the following
figure.

Bl HEEHR

(A) A
(B) B
© C
(D) D

Q110 How would the following transparent
sheet appear when it is folded on the

dotted line?

O A x| @BA|I VIOV

.
A, B c D
(A) A (B) B
) C (D) D

QII1 A box can be formed by folding the
following sheet as shown in the figure.
Which letter would be on the face opposite

M?
0
L |mMnN]
F
Q
(A) O (B) P
© Q (D) L

Q108 < g 3Pl # a7l DI F&AT fbeil &7

o

N I |
(A) 24 (B) 26
(C) 30 (D) 32

Q109 I & g B @I T BT @RI
BIfT?

53]} [BIHIEE

(A) A
(B) B
© C
(D) D

Q110 519 9 IR e & &) arel war

W HreT 9 dr fed YbR &1 ded

i gr?

Oa|l @ag|lealevow

.
A, B c D
(A) A (B) B
() C (D) D

Q111 o ¥ fe@m 7U JgaAR e I UH
dfT 91T ST Aehdl & | dfd § M &1

ORI Adg TR B AT MR BIIM?
0

[L{M[N]|
F
Q

(A) O (B) P

©) Q (D) L
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QI12 A box can be formed by folding the

following sheet as shown in the figure.
Which letter would be on the face opposite

u?

s

<|<|c|H

(A) S
(B) W
©) Z
(D) V

Q113 A box can be formed by folding the

following sheet as shown in the figure.
Which sign would appear on the opposite

side of $?

|+:-:
@
t$|

A) @
B) +
©) +
(D) x

27

Q12 fora # fRw@y 7Y IR dfle W Udh

dfRT 9917 ST bl & | afd & U &l
fudig ¥ag W ®I9 91 3R BN

| s

<|<|c|H

(A) S
(B) W
©) Z
(D) V

Q113 T % fe@m Y gar e A a

dfT 91T ST Ahdl & | dfd & § Y
g |wdg W & 91 g g8rr?

|+:-:
@
11-$|

A) @
(B) +
©) +
(D) x
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HINDI

Q114 Ul & fha 9T &7

(A) 9 (B) <1
(C) & (D) 3mS
Q115 fF=fRad & SIF—ar1 vreg FNfT 8—
(A) HArfer® (B) P8R
(C) Ule® (D) T

Q116 YfeeltT 3rea BT T BHIFSTU—

(A) e (B) <iRaar
(C) T (D) &g
Q117 e 1 agaa BRI—
(A) fRrerat (B) et
(C) fRrferaTy (D) et
Q118 | 7 IR | PHUST WRIET | NEifdbd bl
PRE 18T |
(A) Bl BREG  (B) BT RSB
(C) & ®R& (D) 3IRaRT RS

Q119 J& A U & | XFEifhd &I Wg 9qrsy |
(A) Fregaras ad=™
(B) i eearad |qa-mH
(O RENEICEASERIE
(D) UTIaTad I

Q120 AHSIGR’ ¥Isg fARIUT &7 I T 9E &
(A) =t faemgor
(B) =marad faeeor
(C) uRvmHarad fareo
(D) Torared faeiyor

QI121 =4l ¥eg | &1 faiyor g—
(A) =g (B) =rd
(C) afda (D) =4t

Q122 gy’ FEd
(A) T & o T BT
(B) b & AM=I wU Bl
(C) fohaT & SwH wU Bl
(D) fovam & QU wY Bl

28

Q123 YadIel & fha 9 &7
(A) drd (B) ©g
(©) 7t (D) @R

Q124 TEHT &g 99 B—
(A) B & a1 o=l |
(B) faceh vl &
(C) Sg oIl ¥ dqeld |
(D) E&pd V&l § H daod A

Q125 TIH e Y-y —
(A) foraT (B) &1
(C) AR (D) I

Q126 U TTeRT BT HI—H THE Hel ol o7
(A) TTSUITeT, fagaTery, W
(B) TRY, #fge, &ikd
(C) U=TsS, Yad, J&Id
(D) 31T, IR, 3

Q127 7 ¥ Hal fId™ ¥eg ¥H HI—4T 27
(A) 3MEH-YaTH
(B) Me=—e™
(C) Ye—fag
(D) 3T —HATIT

Q128 ¥R’ ¥ b bl TE—HHqE Bl T
PIfSTe—
(A) IT—SHbI
(B) RI—a=r
(C) g
(D) RG-S

Q129 ‘ST B HRAT Hfo 8 ardIe & forg
U veq foTRau—

(A) T=hR (B) ¢
(C) Bfe (D) 3rE¥q
Q130 Uel Ui TR MUAT ..o CRIEE]
|El T 9Ry—
(A) AR (B) <M
(C) e (D) 9
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Q131 '3 SuTl | & U= B

(A) 3TF=R (B) srgut
(C) 3R (D) 3R

Q132 Yefaps’ W H vt Uy BT YANT BT
&7

(A)
(C) sTms

(B) s
(D) et

Q133 aisifer &1 8! df—fawes 8—
(A) A= (B) d+stel
(C) Mai+aisifer (D) a+3isTiel

Q134 |1 fieaR ¥ae ST & | —arad & JE
w9 BT
(A) w4 fAdTdR Tdhel T |
(B) ¥ fAcTay AT ¥ahel oI & |
(C) |1 fAear wae o 2 |

(D) |l |1 he I € |

Q135 'TASER" H P9 AT AN 87
(A) Jgd wig (B) gy
(C) gfa (D) a5

Q136 H W g |—FHHarsd wd B—
(A) gsT @TaT ST o |
(B) R ¥ WRIT ST B |
(C) TSI W@ =T&l Sfal 2 |
(D) M @RI SIar ¥

Q137 # 31 Ugdl & |—araa # fohar faeryor &1
S T
(A) raras foear faeror
(B) fcrarass fopam fazmor
(C) @Terarad fopar faeror
(D) uRvmwaraa foham fagmyor

Q138 =1 & & Ui fore B—
(A) ? (B) !
©) - D) /

29

Q139 ®l & R STATT — HaTer BT 31f 5—
(A) JeHl AT (B) G AA
(C) W4 81 (D) ©1

Q140 ArPpIfdd &1 AT 31 g—
(A) 1P B 3Ifdd (B) I @I a1
(C) @i & o=@ (D) 3T 9wl

Q141 THE IS I FIdd H dI IR YR

off |- ¥g 9187 |
(A) Hfdd 3= (B) dR %9
(C) B3 ™ (D) TR 3™

Q142 AUE & UAdH X1 H fha+r A= il
g7

(A) 99 (B) 978
(C) U=s (D) dret®
Q143 PTeil Tl Bl THS T |—3TADR TATST—

(A) THD IMADR
(B) SUHAT 3cihR
(C) 3TIUT 3TcThR
(D) ®U®D 3ABR

U AT 144 9 148 BT SR QT U
TS & IR TR SRR

faeg @ @15 WM T Iwrar e 7, o
Il & Heu B 7 SifwT BT 99 fafae
JHR & I Terdl qAr yareri @ forg
THATS MM W o 31 377t ff & | gt
& ARAR T W 39D TRETIT dT JMITIHT
TS| ST AT 991 RV B IMavIdhal
Ugel oIl & 91 gg © | 991 A S US
U BN S99 &I FART BT FART
PRI B 3T BH SARG, BeiaR effe
T B oI B IR & Adhfdt Ui
BT B B 1T 8 BRI g9 B forg
T Al ) SuSE Bl 2 W g1
PIe & T A1 SAPBT AR AT AT D
21 Us O 9] R H Gehd a b
TITIROT BT XeTT DR & | el 395 BIa
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SRS ok favel i & ARae
B erar Y Bl B, Ty gar # At &
Jiel o &l € | YT BReb d BHNI
ged) BT FRETT & B |

TITERTT BT GRET & AT 1T FARI RS
IR YISTl B THTT BT TR AT a1
@ TRETT W B G981 Ahdl 8 | 9 B
HROT B Afedl orye AR oA B
IHAUR HSlIHR JaTed 81 J& o |

Q144 Tt BT qou 3ifd &7 3ref g
(A) T BT A& FHASHT
(B) Tl BT IS BHre-T
(C) =l &I 99T
(D) a9 T

Q145 M W | AU 8-
(A) ¥ BT QI
(B) AT &1 I
(C) Y& Bl eI
(D) 3N T A

Q146 T91 & TRV H AU B—
(A) Tl BT PBreAT
(B) @l BT BT
(C) Tl BT ATH HRAT
(D) @I BT g

30

Q147 a9 YAfdRoT &I T fhd PR B 87
(A) TS BATG TR
(B) BRI T&R
(C) a9 R H FERH I
(D) AHSI TH

Q148 Ffeal & STt fhdad HROT yarfad &r
I B?
(A) T B
(C) framt &

(B) &Rt &
(D) &=l &

Q149 "SUEy 9’ fHad! o+ 87
(A) STIZHR TG
(B) HPreiIRoT T
(C) hara Furdt fRTer
(D) gfFare ud

Q150 3T & Tt fad! =T 27
(A) HETdT i
(B) 3rream Rig
(C) RIEIRM IR I
(D) Iwia Bt fARrenm

SET-B01



ROUGH WORK /3% &I & foru
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Read the following Instructions carefully :

frfaRea el & «o9 9 Ue -

1. Candidate shall not remove any page(s) from the Test
Booklet and if any page (s) is/are found mising from
his/her Test Booklet, he/she may be liable for suitable
action.

2. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not
liable to be changed

3. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

4. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy

in Test Booklet), another set will be provided.

5. The candidates will write the correct Series in the
Attendance Sheet as mentioned in his/her Test
Booklet.

6. Each candidate must show on demand his / her Admit
Card to the Invigilator

7. No candidate, without special permission of the
Superintendent or Invigilator, should leave his / her
seat.

8. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not
to have handed over the Answer Sheet and dealt with
as an unfair means case.

9. Use of Pencil/Electronic/Manual Calculator is
prohibited.

10.The candidates are governed by all Rules and
Regulations of the Board with regard to their con-
duct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Board.

11. After Examination is over, candidate has to return
his Answer Sheet to invigilator. Invigilator will hand
over the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is allowed to take away Test booklet and

Candidate’s copy of answer sheet.

1. Gl B WY g5 / gaf ol e R A

IS &l HM | A BIS W1 I5 IAD! / IFD
et GRPT | AT 9N S 8, 98 Suged
FRITE & v ReR 8 J6dar g1

URIe U & forg AU R IR fadedl H 9
Tl SR & foTv 3. UH. R, SR U5 WX
Had U TIel BT & QR aRE AAlet / Blet a1e
Uige U9 9 W | U IR IR 3ifhd fbu o™
D 9% S ool Tl ol Ahdl © |

. W GARTT HX @ SR T BT AlST 7

ST TG S8 TR Bls g 9= 7 g |
oieefl AT ST HIe SR UF W EiRd
e & AfIRad = 7 ford |

o1e gRADT Ud SR UF BT T 9dd JART
B, Rifd fdT ff aRRfT 5 (®aet adiem
R H B DT BIS BY) AR TIeT JRAD]
TG SR TS SUALS el BHRIAT ST |
oiem gReer § <1 T AR D1 qRleredi
el TS 3 319 BIRI—U3 (ATTENDANCE
SHEET) ¥ ford |

I8 S W IS qereli, FHer raierd ol
YT 999 v gy |

refleTeh AT et A<D Dl 92y AT &
foar @Ig el s Y T TS |

PRINT heT JIIeTh BT UAT IR UF QU
fomm wlemelt eroAr e TEl B | afe
fopefT o_lemefl 9 BIONI—u= (ATTENDANCE
SHEET) R BXIeR el fhU ar I8 AT SIger
P AT SR UF T8l e’ g 3R T8
T AT BT HHST AT S |

URTd / SeldglMd / Baalield URGBAAdD &l

SYANT gfofd 2 |

10.TR1&T BT MR & forg e} s &

a1 el va fafml gRT Rl = | s
vd fafet & SaR B8R |

11. IR0ETT & SURIT 3] SR U= el ITaeieTdh

BT el ¢ | Irield gRT 3Nl dl IR
oD @l 3R Ut SX T HRIg SITUHT e
ST IR B BeT DI BIST DI AT af
SIQHT | oRieT gRADT T SR UFD DI
e} ufay anaeft @1 *moe |1 of ST @l

3T 2 |
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